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The main purpose of descriptive statistics is to:

Summarize data in a useful and informative manner.

Make inferences about a population.

Determine if the data adequately represents the population.

Gather or collect data.

A bank asks customers to evaluate the drive-thru service as good, average, or poor. Which level
of measturement is this classification?
Nominal B) Ordinal C) Interval D) " Ratio

What type of variable is "projected return on an investment"?

Qualitative B)  Continuous C) Atiribute D) Discrete

When data is collected using a quantitative, ratio variable, what is true about a frequency
distribution that summarizes thé data?

Upper and lower class limits must be calculated.

A pie chart can be used to summarize the data.

Number of classes is equal to the number of variable's values.

The "5 to the k rule" can be applied.

The monthly salaries of a sample of 100 employees were rounded to the nearest ten dollars.
They ranged from a low of §1,040 to a high of $1,720. If we want to condense the data into
seven classes, what is the most convenient class interval?

$ 50 B) $100 C) $150 D) $200

. What is the relationship among the mean, median and mode in a symmetric distribution?

They are all equal

The mean is always the smallest value

The mean is always the largest value

H = HRE

The mode is the largest value
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7. Fifteen accounting majors had an average grade of 90 on a finance exam. Seven marketing

majors averaged 85, while ten finance majors averaged 93 on the same exam. What is the
weighted mean for the 32 students taking the exam?

A) 89.84 B) 8933 C) 8948

- D) Impossible to determine without more information

8 Mr. and Mrs. Jones live in a neighborhood where the mean family income is $45,000 with a
standard deviation of $9,000. Mr. and Mrs. Smith live in a neighborhood where the mean is
$100,000 and the standard deviation is $30,000. What is the relative dispersion of the family

incomes in the two neighborhoods?
A) Jones 40%, Smith 20% B) Jones 20%, Smith 30% C) Jones 30%, Smith 20%

D) Jones 50%, Smith 33%

9. Routine physical examinations are conducted annually as part of a health service program for the
employees. It was discovered that 8% of the employees needed corrective shoes, 15% needed
major dental work and 3% needed both corrective shoes and major dental work. What 1s the
probability that an employee selected at random will need either corrective shoes or major dental

work?
A) 0.20 B) 0.25 C) 0.50 D)y 1.00

10. A board of directors consists of eight men and four women. A four-member search committee is
to be chosen at random to recommend a new company president. What is the probability that all

four members of the search committee will be women?

A) 1/120 or 0.00083 B) 1/16 or 0.0625 C) 1/80r0.125 D) 1/495 or 0.002

11. A tennis match requires that a player win three of five sets to win the match. If a player wins the
first two sets, what is the probability that the player wins the match, assuming that each player is

equally likely to win each match?
Ay 05 B) 1/80r0.125 C) 7/80r0.875 D) Cannot be computed.

12. For the normal distribution, the mean plus and minus 1.96 standard deviations will include about

what percent of the observations?

A) 50% B) 997% C) 95% D) 68%
EmEiEEAE
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All possible samples of size n are selected from a population and the mean of each sample is
determined. What is the mean of the sample means?

Exactly the same as the population mean

Larger than the population mean

Smaller than the population mean’

Cannot be estimated in advance

For a given confidence interval, what is the interpretation of a 96% confidence level?

96% chance that the given interval includes the true value of the population parameter
Approximately 96 out of 100 such intervals would include the true value of the population
parameter ]

4% chance that the given interval does not include the true value of the population parameter

Both "a" and "c¢" are true

If we reject the null hypothesis what can we conclude subject to the o risk?
Null hypothesis is false |
Alternative hypothesis'is false
Null hypothesis is true

Both the null hypothesis and the alternative hypothesis are true

ETHEAE (40%)

— BRETALEN ARARITAMGEEREEMGRE  BTHEMEXARZL

FhEE RO BESTALEN A DEE 100 LT Ao m_4  FammEER
2o LERBREEABEITRG  BRER  FAT A TPEHEMER B35 RE
EAS3 LHIANTHERER A2 BEEZR 4T AP HE BB RAEH K
% B Eae=005FT AR EFLOFTRIHLERE (TAELAFESE)
A AE 0 Z(0.975)=1.96 » Z(0.95) = 1.645 > Z(0.9)=1.28 = 10%
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